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Introduction générale
�

�$� %�$�)�� (���,��� +$� (+3�� ?�$���� �����-�� ��� )=>��� �3��(���/� ��36� ��(,)��� �����

($��*)3+*,��5������($��3�����������(�$�*;3�5����+�����3+���3�*+*�����	�+��)=>���(����)3+�����

+��)=>��� ��3-��/�����5$�)=����$�*��$36���� ������$�*��$36������$)�3�++�5������5$���3���

�����)=$?���3�<�*���$(*��1�����)�N��361�=�5�?,�������$�����2$3��/��"$(($�*�*�������2������

(���$���+����)=$?�1�$36;3�++���+��)=>�����+"��$��-������������*<+�1���(��)*��+$�;3$+*����3�<�*��

����))$�*�����($��)����;3����3����)+$���5�����3�+��������)*$?��/��

�2*����� ��$+*���� 3�� ��)=$?�����;3$+*����$�������)���*�*�����)���5*;3���-*$<+��1� *+�

2$3��)=�*�*��3��(��)����$((��(�*����+"�����)��)���*�����/�������$-$36�$����*�3�������5������

;3��+����)=$?����3��-*��������)���5*;3�5����*�������$���(�3��+��<�*�����)=>��/��+�(��5���

($��$*++�3��1��"�22�)�3���3����)=$?����+$�2�*���$(*���������<�����;3$+*���2*�$+���3���3��(�3��

+��������)����=��5�����*<+��/����(��<+,5�����*����$���+$���2*�*�*���)����)�������)���*�*����

�����)=$?��$2*���"$��*-�����$++*����$(*�*������+"�(��$�*������<�����;3$+*���2*�$+���3�(���3*�/�

�����$-$*+�(��������*)*������22�)�3��$3��$<��$��*������%���O��$��2����1��)�3+�5����1�

%+3*���1�����?��*;3�P1� *+��"*��)�*���$���+��)$������� +"$5�+*��$�*������ +$�;3$+*����3�<�*�����

)=>�����+$�����*���3���)=�*��$3���$-�������+$���2*�*�*������)���*�*���������)=$?���(�*5$+���

�$����3�(�*������-3��;3$+*���5�)$�*;3��O��(���������($�� +"$(($�*�*�������2*��3�����$���+���

�)*$?��P�;3��+$��3�������$+�������)=$?�/�

�

�����$-$*+�����(���������$���;3$����)=$(*�����	�

♦ !��(��5*���)=$(*����$<�����;3�+;3���$�(�)���?����$36��3��+��5$���*$3�<�*��������

($��*)3+*����3�� +���)=>���/��$��� +$�(��5*,���($��*�1����5������;3�� +��<�*������3��

5$���*$3�=�����?,��1�$�*�����(�����=4?���)�(*;3��(�����$���3���-$�*$<*+*���*����Q

�����)�1� ���� $�)=*��)�3��� $�$��5*;3�� R�3��3�� �@+�� �3�� +�� ��$��2���� ���5$���/����

��$��2��������2$-��*����$���+$��*��)�*���+��?*�3�*�$+��O�*��)�*�������-$*���$36��������

2*<���P�����$���+$��*��)�*����$�*$+��O�*��)�*��������$4����+*?��36P/�.$*��+�������+$�

�3�$5*�*�$�*��� O($��$?�� �3� <�*�� �"$3<*��� �� <�*�� ��� )S3�P� +��� -*���� )�++3+$*����

$*��*� ;3�� +��� (��)�3$�*���� ����� $22�)����� ($�� ���� �3<��$�)��� ��?$�*;3��� ;3*�



������3)�*���?����$+��

�


<+�;3���� +$� )*�)3+$�*��� �"�$3� ��� ����$:����� ���� �*22*)3+���� +���� �3� ��)=$?�/� 
$��

$*++�3��1�+"�$3��$���+��<�*��������3-��(�*�)*($+�5������3�����*��2��5���	�+"�$3�+*<���

;3*����������3���$���+���+35���1�+"�$3�+*������������3���$���+���($��*��)�++3+$*�������

+$� -$(�3�� �"�$31� 5�+$�?��� �� +"$*�1� ��5(+*�� +��� ��($)��� ���� �))3(��� ($�� +"�$3�

+*;3*��/�
���$��� +�� ��)=$?�1���)$3������ +"�-$(��$�*������ +"�$3� +*��1�3�� ����$*�����

2*<���� ���(���3*�� (��-�;3$��� 3�� )=$5(����)����$*������$��� +��5$���*$3�;3*� (�3��

5�������+"$(($�*�*������2�����/�

�$��� +$� ��36*,5�� ($��*�1� ��3�� $<������� ;3�+;3��� (��(�*����� =4?���)�(*;3��1�

(=4�*;3��� ��� �=��5*;3��� �3� <�*�� ;3*� ����� 3�*+��� �� +$� )�5(��=���*��� �3�

)�5(����5���� �3�5$���*$3� $3� )�3��� �3� ��)=$?�/� ��� ��$��2���� �"�$3� ���� +*�� �� +$�

���3)�3���(���3��������+$�5$����-�+35*;3���3�5$���*$3/��$�+�*�����$�)4�)$�$)���*���

+$�)��-�)�*����"3��2+3*����$���+��5*+*�31��++����$�3*��+$����*������(��5�$<*+*���;3*�

�����*22���������+���+����*��)�*�����$�3��++������<�*�/��$�+�*����%�3�*���)$�$)���*���

+$� �*223�*��� ��� )=$+�3�� �$��� 3�� 5*+*�31� �++�� 2$*�� $(($�$:���� +$� )���3)�*-*���

�=��5*;3�/�

♦ ��� ��36*,5�� )=$(*���� ��)�*�� +$� 5���+*�$�*��� �3� ��)=$?�� �� +"�)=�++�� �3� ��)=�*��

��3�� -*��� �*�)���*�3/� !�� )4)+�� ��� ��)=$?�� ��3�� -*��� �*�)���*�3� )���*���� ��36�

(=$����	� 3��� (=$��� )��-�)�*-�� (���$��� +$;3�++�� +�� ��)=$?�� $� +*�3� �� (����*���

$�5��(=��*;3�1� )����� (=$��� $� (�3�� <3�� (�*�)*($+� �"$5����� ��� +$� )=$+�3�� $3�

5$���*$31� ��� 3���(=$������-*���;3*�(��������3����3))���*��������36� ��?*5���$3�

)�3������;3�+��3���<$����(����*�������5$*����3��(���$���3����5(�������5*��/�����

��?*5��� �����	� 3�� ��?*5�� $)�*2� �T� +$� (�5(�� �� -*��� 2��)�*����1� )�� ;3*� (��5���

�"$<$*����� +$� (����*��� ��� 3�� ��?*5�� ($��*2� �T� +$� (�5(�� ���� �� +"$��>�1� )�� ;3*�

��?������3���$3?5���$�*������+$�(����*���O+*�����+$�(���3)�*������-$(�3��-��$���

����<�*�P� R3�;3"�� +$�)���*?���)���*�����/�
���$���)�� ��?*5��3���2��53+$�*����3�

2+36� 5$���� ���� (��(����� (��5���$��� �"�6(+*)*���� +�� ��$��2���� ��� +$� -$(�3�� �"�$3�

����$����3�<�*��-����+$�($��*����+"��)�*���/�

♦ ��� ���*�*,5�� )=$(*���� (�������� +$� ���*��� ��� ;3$+*��� ���� (���3*��� ��)=��� $(�,��

��$��2��5$�*��/� ��� )�*�,��� )=�*�*� (�3�� ;3$+*2*��� +�� ��)=$?�� ���� +�� �*�;3��

�"$(($�*�*�������2�������$���+��<�*�/��3�)�3����3���)=$?�1�+��5$���*$3�������35*��

��3��?�$�*�����"=35*�*���;3*�����$:�������-$�*$�*�����*5���*����++���*5(���$�����

O����$*�P1� )�� ����$*�� $�*�����(�� -$� ?������� ���� )����$*����� *�������� ;3*� (�3-����

(��-�;3��� ���� 2������ �3(��2*)*�++��� �3� *�������� �*� )��� )����$*����� ��($������ +$�



������3)�*���?����$+��

� G

���*��$�)��5�)$�*;3���3�5$���*$3�<�*�/�
�3��)�+$1�3��5��,+���=��+�?*;3���*5(+��

*���?���$3�5��,+�������)=$?��(��5����"�-$+3���+���*-�$3�����)����$*�����$3���*��

�3�5$���*$31��*�)���)����$*�����������+�-���1�$3���?$����"3���*-�$3����)����$*�����

;3$+*2*�� �"$�5*��*<+�1� )�+$� �*?�*2*�� ;3�� +��� �*�;3��� ��� (�����)�� ��� 2*��3���� �����

*5(���$���/��

♦ �������*���)=$(*����$<������$���3��(��5*��� ��5(��3��� $�$+4������ ����*<*+*��� �3�

5��,+��5*�����(+$)��$36��*22�������($�$5,������3�(��)����$2*�����+���=*��$�)=*���/�

���)�����$�$+4���������*����;3��+���($�$5,�����(��(�����$���������+$���5(��$�3���

��� ��)=$?�1� +$� (����*��� ��� +"��)�*���� ��� +�� �*-�$3� ��� ��5(+*��$?�� �3� ��)=�*�/�

�"�(�*5*�$�*��� ��� )��� ($�$5,����� (��5��� ��� �*5*�3��� +�� �*-�$3� ��� )����$*���/�

�$��� 3��� ��36*,5�� ($��*�1� +"�3�*+� ���5���+*�$�*��� ���� 3�*+*��� (�3�� (��(����� ����

)���*�*���� ��� ��)=$?�� �(�*5$+��/� ���� )���*�*���� $*��*� (��(������ ����� $+����

-��*2*���� $3� ��$-���� �"�6(��*��)��� ;3*� ���� ��-�+�� 3��� <����� ;3$+*��� 5�)$�*;3��

O(�3� ��� ��2��5$�*��1� ��,�� (�3� ��� 2�����P� ���� +���� ��� <�*�� $-�)� 3��� <�����

=�5�?���*������+$�����3������$3�2*�$+����+"�)=�++������(+$�)=���������+"$5$�/�����

�6(��*��)������-����($��$*++�3������-$+*�$�*�����+$�5���+*�$�*���(��(����/�

�

�



�

�

������������������������������������������������������������������������������������������������������������������������������������������������������44����

��������
������������������������������44

��44

��������������DD��

��������44����		������

������44��DD������		������

�2*�� ��� )�55��)��� 3��� ��3��� )�5(+,��� �3�� +�� ��)=$?�� �3� <�*�� ��� )=>��1� *+� ����

��3=$*�$<+�� ��� )���$:���� )�� 5$���*$31� ���� )$�$)���*��*;3��� ��� ���� ($��*)3+$�*���/� ��3�� $++����

���)� (��������� ;3�+;3��� $�(�)��� ?����$36� �3�� +$� ���3)�3��� ��� <�*�� ��� ��� ($��*)3+*��� �3�� +��

)=>��/�
3*�1���3��$++������)�*���+����4(����"�$3����+���*����$)�*����������+"�$3����+��<�*�/���2*�1�

��3��$++����$<������;3�+;3���(��(�*�����(=4�*;3���+*����$3�<�*�����3�*+���(�3��)�5(�����������

)�5(����5���/�

�
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I.1.1 Coupe transversale
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o �"�)��)��	� )�3)=�� (����)��*)�� (�3-$��� $-�*�� 3��� �($*���3�� �"3��

5*++*5,����O<�3+�$3P���(+3�����GD�)5�O��;3�*$P1�

o �*<���	� )�3)=�� �(��?*�3��� �$��� +$;3�++�� +$� �,-�� �+$<����� ���)���� ����

<�$�)=���-����+����$)*���/�

o �$5<*35�	� )�3)=�� ��,�� 2*��� O8� )�++3+�P1� ($��*�� -*-$���� ��� +"$�<��� ;3*�

2$<�*;3���3�<�*��)@���*����������+��+*<���)@����6�����/�

o �3<*���	� )"���� +$� ($��*�� 2��)�*����++�� ��� +"$�<��1� +$� �,-�� 4� )*�)3+�� ����

�$)*����-����+���<�$�)=��/��������;3��+$�5$R�3���($��*�����+$��,-��($����

�$��� +$� ($��*�� �6������ ��� +"$3<*��1� )����Q�Q�*��� +�� )����� ��� +"$����� ���

)�3��/��"�����$���+"$3<*���;3��������3-����+��������-��/�

o �S3�� �3� �3�$5���	� )"���� +$� ($��*�� �T� �"$))353+���� +��� ��)=���� ��� ;3*�
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I.1.2 Plan ligneux
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I.1.2.1 Vaisseaux
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���� -$*���$36� ($�� �3*��� ��� <+���3���1� $��$;3��� ���� )=$5(*?����� �3� �$�3��++�5���� +���� �3�

($��$?���3�<�*�� ��� �$� 2��5�� 2��)�*����++�� O$3<*��P� �� �$� 2��5�� *������ O<�*�� ��� )S3�P� O�������

��"P/� �$� (�����)�� ��� )��� �4++��� (�3�� ����$:���� ���� �*22*)3+���� +���� �3� ��)=$?�1� ���
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I.1.2.2 Fibres

�������������+�5�����$++��?���;3*�(�������(�3����(��)�3$�*�����*5(+��/�����2*<����;3*�

)����*�3����FDY���IDY����+$�5$�����3�<�*�1������5���������-*���1�R�3����������*�++�5����3��

�@+���"�+�5��������<������(��(�*�����5�)$�*;3��������������($����?$�*�����(�3��R�3���3���@+��

*5(���$��� �$��� +��� �)=$�?��� ��� �3<��$�)��� ������ +��� )�++3+��� �3� <�*�/� �$� ����*��� �3� <�*��

��(���� ��� +$� (��(���*��� ��+$�*-�� ���� 2*<���� ($�� �$((���� $36� $3����� �+�5����� )�++3+$*����

OX�����1�8EE�P/�

I.1.2.3 Rayons ligneux

�+�������)����*�3������)�++3+������($���)=45�1�-*-$������$���;3��+��<�*������2��)�*����+1�

�"��?$�*�$������<$������"��*���$�*����$�*$+�/���3���*�(��*�*�������)����$�������$���V���?3+*,���

(�3��3�����(,)���������5$*��<�$3)�3(�(+3��-$�*���;3���$���+��)$���������*��36Z�)�����������

)�*�,�����"*����*2*)$�*�����,��3�*+��/�

���)=>���(���,�����36��4(��������$4����+*?��36�����������O3�����3+���$�?�������)�++3+���

���($���)=45��P����#�����������O(+3�*�3����$�?��������)�++3+������+$�?�3�P/���������*���������

-*�*<+��� �� +"S*+� �3� ��� ��)�*��� ��$��-���$+�� OR3�;3"�� 3��� )*�;3$��$*��� ��� )�++3+��� ��� +$�?�3�P�
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�$4���� +*?��36� ($�)�� ;3�� )��� �*��3�� )�++3+$*���� ���*������� +$� 5$R�3��� ($��*�� ��� +"�$3�

5*)��)$(*++$*�����+"��$��5��$��$<+���$���+�3�����3)�3���(���3��/�

I.1.2.4 Ponctuations
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♦ ����(��)�3$�*�����*5(+����6*������������+���)�++3+������($���)=45�1����������

+���2*<���/�

♦ ����(��)�3$�*����$���+�����$������3���6*������������+���-$*���$36/�

♦ ���� (��)�3$�*���� ��5*Q$���+���� ;3*� $(($�$*������ ������ ���� )�++3+��� ���

2��)�*�����*22��������Z� �++��� ������3� �4(�� �*5(+���3�)@����3�($���)=45�����

�3��4(��$���+���3�)@����3�-$*���$3/�
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!��� ���� �*22*)3+���� ���)������� +���� ��� ��)=$?�� ���� ���*��36� ���� ;3�� +�� ���3�� (�3�� ���

(+$;3��1�($��+"�+$��*)*�������5*)��2*<�*++���;3*�+���3((�������O+$5�++��5�4����P�)������+"3������

<��������+$�(��)�3$�*���O($��*���)���$*��P�����<�3���� +��($��$?������2+3*����O
����1�8E�HP/�

���(=���5,���O$�(*�$�*�������(��)�3$�*����$���+���P�$22�)���<�$3)�3(�(+3��+��<�*��*�*�*$+�;3��

+��<�*��2*�$+�(3*�;3��+���(��)�3$�*����4������(+3���($*��������+�3��5�5<�$���(+3���*?*��/�

���+"�<���-$�*����3�(+$��+*?��36��3�)=>��1����(�3��)��)+3���;3��+�����$��2��������5$����

�����2$-��*�����$���+$��*��)�*���+��?*�3�*�$+��(�*�)*($+�5����?�\)��$3�+35�������-$*���$36����

���� 2*<����;3*� ����� ��*������ $6*$+�5����$*��*� ;3�� �$��� +$� �*��)�*��� �$�*$+�� ?�\)�� $36� �$4����

+*?��36/����(+3�1�+$�)�553�*)$�*���������+����+�5�����O-$*���$361�2*<���1��$4����+*?��361[P�

����$��3����($��+���(��)�3$�*����;3*�R�3����3���@+��*5(���$����$���+����)=$�?����"$*������"�$3�

$3�)�3����3���)=$?�/���
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�"�$31� �+�5���� *��*�(���$<+�� �� +$� -*�1� )*�)3+�� �$��� +��� -�?��$36� -*-$���� (�3�� �������

(���*<+�� +�3�� 2��)�*����5���� (=4�*�+�?*;3�1� +�3�� 5��$<�+*�5�1� +�3�� )��*��$�)�� ��� +�3��

��(���3)�*��/�

�3�(�*������-3���3� ��)=$?�1� +"�$3����� +�� +*;3*���;3*�)*�)3+���� +"*����*�3�� �3�<�*�� ��3��

(+3�*�3���2��5��/����(��)���3�������)=$?��)���*�������*5*�3���+$�;3$��*������+*;3*���R3�;3"��

3���-$+�3��)�5($�*<+��$-�)�+"3�*+*�$�*����3�<�*�/��"�<R������)��($�$?�$(=�����1��$���3��(��5*���

��5(�1������)�*���+����*-������$������+"�$3�(���������$���+��<�*�1���1��$���3����36*,5����5(�1�

���(���������+���(��(�*�����=4?���)�(*;3������(=4�*;3����3�5$���*$3/�
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I.2.3 Propriétés hygroscopiques
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I.3.1 Rétractibilité
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I.3.2 Porosité
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I.3.3 Masse volumique
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I.3.4 Perméabilité
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I.3.5 Propriétés thermiques
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II.4.1 Hypothèses fondamentales
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II.4.2 La phase convective

II.4.2.1 Bilan des échanges
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II.4.2.2 Equations des conservations
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II.4.3 La phase de vide

II.4.3.1 Bilan des échanges
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II.4.4 Conditions aux limites
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II.4.5 Description des échanges pendant le régime passif
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II.4.5.1 Formulation du problème de diffusion
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II.4.5.2 Expression analytique
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III.1.1.1 Débit sur dosse
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III.1.1.2 Débit sur quartier
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III.1.2 Défauts liés au séchage
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III.1.2.2 Discolorations
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III.1.2.3 Cémentation en surface
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III.1.2.5 Fentes internes
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III.1.3 Qualification du séchage
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$(�,��+����)=$?��;3*�(�3-��������)�������5$�*,������������3)�*-�1�+$�(�����)�����2����1����

)�++$(��� �3� ��� �S3��1� ($�� +"$3?5���$�*��� �3� ��5(�� ��� ��$��5*��*��� �"3+��$����� ����
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�*?�3��36P�
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III.2.1 Éléments de littérature


+3�*�3���5��,+��� �=��+�?*;3����3�)�5(����5�����3�<�*����������(��(�����(���$���

+�������*,����$�����1�+$�(+3($������)���5��,+��������<$�����3��3��5��,+��;3*��*����)�5(���

�3�2$*��;3��+���(��(�*�����5�)$�*;3���)=$�?����(���$���+����)=$?�/�

.$��������� ��� �-������� O8EEH� ��� 8EEEP� �$��� ��36� (3<+*)$�*���� ���� ��-�+�((�� 3��

5��,+�� ��� )����$*���� M� ��2��5$�*��� $4$��� (�3�� <3�� �"���*)=*�� +$� )���$*��$�)�� �3�

)�5(����5����5�)$�*;3������"$5�+*�����+$�;3$+*����3�<�*��(���$���+����)=$?�/���3����$-$*+�

�����22�)�3���3��������)�*������$��-���$+���O�$�*$+������$�?���*�++�P��3�(*��O
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)��2*?3�$�*��� 3�*�*5���*����++�� ��� 3��� )��2*?3�$�*��� <*�*5���*����++�� ��� *+�� ����5������

;3����+���+��<3�����+"��3������(�3����-*�$?���+"3�*+*�$�*����"3��5��,+��3�*�*5���*����+��3�

�"3��5��,+��<*�*5���*����+/�
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�ε �;3*��6(�*5��+��)�5(����5����-*�;3�36��3�<�*�����

;3*���(�����3���5(�1��
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��#�O
DDDP�$�$R�3���3�����5��+*����+$���5(��$�3���

�
�#�������� εεεεεε ++++= � � � � � O�;����/�
P�

�
�

��+���+$�+�*�������B��	�

����� ��� εσ = � �� � � � � � � �
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III.2.2 Choix du modèle
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III.2.3 Modèle simplifié de la contrainte
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III.2.4 Mesure le Module d’Young ��

III.2.4.1 Compression perpendiculaire aux fibres
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Module d'Young pour le bois du chêne
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N°1 : dP=4800 Pa, Tenc=65, tch=45min, tvide=60min, tpréch=6h, W=0.12
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N°2 : P=0.14 bar, Tenc=65, tch=45min, tvide=60min, tpréch=6h, W=0.12

12.0

12.5

13.0

13.5

14.0

14.5

15.0

15.5

16.0

800 1800 2800 3800 4800 5800 6800 7800 8800

Delta P (Pa)

C
o

n
tr

ai
n

te
s

m
ax

im
al

es
(M

P
a)

88

90

92

94

96

98

100

102

T
em

p
s

(h
eu

re
)

contrainte maxi
Temps

�

N°3 : P=0.14, dP=4800 Pa, tch=45min, tvide=60min, tpréch=6h, W=0.12.
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N°4 : P=0.14 bar, dP=4800 Pa, Tenc=65, tvide=60min, tpréch=6h,W=0.12
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N°5 : P=0.14 bar, dP=4800 Pa, Tenc=65, tch=45min, tpréch=6h, W=0.12
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IV.1.2 Sensibilité à la pression et à la température
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IV.2.1 Description du séchoir «MASPELL»
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IV.2.2 Mesures et acquisitions

IV.2.2.1 Paramètres contrôlés
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IV.3.2 Contraintes maximales
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IV.3.3 Comportement en température
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IV.3.4 Homogénéité

IV.3.4.1 À l’échelle de la planche
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P/��

�

'*���;3��)�����5��=������� ��*��($��(��)*��������� ��*��($�� �322*�$����(�3���-$+3��� +���

2*��3����*���������$���+��<�*�1��++��(��5�������������3���*�����3��)���4(��������2$3���

�



�(�*5*�$�*������J$+*�$�*����

�88G

�

�$<+�$3��J/�8G�	�%������*����������+�-����������)�*����)�3(���/�
�

��.- ��$0��"0!2��(�$���!��$0��"0!2�

IV.4.1 Comparaison modèle / expérience

��3�� $-���� ��$+*��� ;3�+;3��� )�5($�$*����� ������ +��� ���3+�$��� �6(��*5���$36� ���

�35��*;3��� $2*�� ��� -$+*���� +$�5���+*�$�*��� (��(����� ��� ��� )��2*�5��� ;3�� +"�3�*+� �35��*;3��

��(����$36�)���*�*���������)=$?��)=�*�*��/��

%������*��������

���?3�3�������2*��3����55��

���$*�
�*��)�*���M�

+$�)=��

%$)���T�������3-��+$�2*��3���

�<�
���$+�
����

2*��3����

�3�2$)��
�"�<���-$
�*���


�# �

G���F� F���8D� 8D���8F� 8F���
D� `
D�

�hE� b8�� �� 
H/G� QQQQQQQ� QQQQQQQ� 
� 
� QQQQQ�

�h�H� b8�� �� GG/I� QQQQQQQ� QQQQQQQ� �� �� QQQQQ�

�hH� b81�b8
1�b8G1�b8�1�b8F1�b8I1�
b8H��

H� G�/8� �� 8� 
� QQQQQQQ� QQQQQ�

�h8�� b81�b8�� 
� GG/I� QQQQQQQ� 
� QQQQQQQ� QQQQQQQ� QQQQQ�

��h8D� b8F� 8� FD/F� QQQQQQQ� QQQQQQQ� QQQQQQQ� QQQQQQQ� 8�

8�

��hFG� b8� I� G�/H� QQQQQQQ� QQQQQQQ� I� QQQQQQQ� QQQQQ�

�hG
� b8� �� 
E/H� QQQQQQQ� �� QQQQQQQ� QQQQQQQ� QQQQQ�

�h�F� b8�� 8� GF� QQQQQQQ� QQQQQQQ� QQQQQQQ� QQQQQQQ� 8�

�h�8� �3)3���2*��3���

�hEF� b�1�b�1�bE1�b8D1�b8I� 8D� GG/E� I� 
� 
� QQQQQQQ� QQQQQ�

��hHH� �3)3���2*��3���


�

��h��� �3)3���2*��3���

�h8I� �3)3���2*��3���

�hII� �3)3���2*��3���

�h
�� �3)3���2*��3���

�h8D8� b8�� G� �G/F� QQQQQQQ� QQQQQQ� 8� 
� QQQQ�

��h8DE� �3)3���2*��3���

G�

��h88�� b8� 8� GD/F� QQQQQQQ� QQQQQQQ� 8� QQQQQQQ� QQQQQ�



�=$(*�����J�

�88�

IV.4.1.1 Cinétiques de séchage

����2*?3����O�.�
"P�5������������)�5($�$*�����������+���)*���*;3��������)=$?��������*��

���$*�� ��(��������� ($�� +"�-�+3�*��� ���� ����3��� ��� �$3�5�4����� O<$��� �,)=�P/���3�� (�3-����

)����$����;3"�� +"�)=�++��)*���*;3�� +��5��,+����� ��)=$?�� ��(����)����)��5����$36�)���*�*����

�����6(��*��)��/�

�

�

�

�

�)=�^�II����


�^�D/G�<$��

��^�GD�55�

�)=�^�I�����


�^�D/
��<$��

��^�GD�55�



�(�*5*�$�*������J$+*�$�*����

�88F

�
%*?3����J/�
F�	���5($�$*��������)*���*;3��������)=$?���6(��*5���$+�������35��*;3��/�

�

IV.4.1.2 Température

���� ��5(��$�3���� ��� +"��)�*���� ����� ��(���������� �$��� +$� 2*?3��� O�.�
$P1� +��� ���3+�$���

�35��*;3��������$3��*����<���$))����$-�)�+"�6(��*��)�/�

�

�
�

%*?3����J/�
I�	���5($�$*����������5(��$�3�������+"��)�*�����6(��*5���$+�������35��*;3��/�

�


$��$*++�3��1�*+�����*5(���$������������;3��)���G����$*�����������22�)�3�������36��$36����

��5(+*��$?���*22������/��2*����� )������ 3�*;3�5���� +����22���� ����)���*�*������� ��)=$?�1� ����

�*53+$�*���� (�3�� +��� 5>5��� )���*�*���� $-�)� 3�� �$36� ��� ��5(+*��$?�� 2*6�� �� D/
� ���� ����

�22�)�3���/��������3+�$��������(����������$���($�$?�$(=���3*-$��/�

�)=�^�FE����


�^�D/
��<$��

��^�GD�55�

�)=�^�I�����


�^�D/
��<$��

��^�GD�55�



�=$(*�����J�
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IV.4.2 Conditions numériques

IV.4.2.1 Cinétiques de séchage

�3��+$�2*?3���O�.�
%P1���3����5$�;3����;3��+����*22����)���������+����3��������$+����3�

��)=$?�� (�3�� +��� )���*�*���� 8� ��� 
� ��� ����� ($�� �*?�*2*)$�*-��/� �+���� ;3�� +$� �3���� ��� +$�

)���*�*��� G� ���� <*��� �3(��*�3��� $36� $3����� )���*�*���� �$� ($��*)3+$�*��� ��5$�;3��� �$��� +$�

)���*�*���G�����+$���5(��$�3������)=$322��;3*��������FE���/�

�
%*?3����J/�
H�	��*���*;3��������)=$?��)$+)3+�����35��*;3�5����$-�)�����)���*�*�����*5*+$*���/�

�

IV.4.2.2 Contraintes maximales

����$<+�$3�O�.�	�P�$*��*�;3��+$�2*?3���O�.�
&P1�5��������+���)����$*�����5$6*5$+�����+$�

�3�2$)�� �3� <�*�� ���3+�$����� ���� �*53+$�*���� $((+*;3���/� �3�� +"����5<+�� ���� )����$*�����

5$6*5$+�����(���������1���3��(�3-�������3*���;3��+�3���-$+�3����������+"$+����3�����I�.
$�	�

)����� )����$*���� ���� $))�(�$<+�� ($�)�� ;3"�++�� ���� ��,�� (��)=�� ��� +$� )����$*����� $�5*��*<+�� �3�

)=>���;3*����������������F�.
$�$-�)�3��)��22*)*���������)3�*����������F/��

τ �^�D/
1�9*�*�^�D/H������92*��^�D/8
�

����*�*��� ��5(��ORP� 5$6σ �O.
$P�

8� 88/G� F/I�


� 88� I/
�

G� 8�� F/I�

�
�$<+�$3��J/�8��	�����*�*����������3+�$��������*53+$�*���/�

�



G

8�



�(�*5*�$�*������J$+*�$�*����

�88H

�
%*?3����J/�
��	������$*�����5$6*5$+���$(($�3���+�����"*�����3*���5>5����$36������5(+*��$?�/��

�
�

��.8 �!2#$ �0!2�

�3���$-�������)��)=$(*���1���3��$-����(��(��������)���*�*���������)=$?��;3*���5<+����

�(�*5$+����$���������5������3����;3"������5������*�;3������2*��3�$�*��/�

�"��3����6(��*5���$+��$���-�+��3��)���$*����5<������(�*�������35���)*Q$(�,��	����

� �3��+"����5<+������������$*�1�3���<�����;3$+*���5�)$�*;3��$�������5$�;3����3��

+�� <�*�1� (�3� ��� ��2��5$�*��� ��� ��,�� (�3� ��� 2�����/� �+� 2$3�� �$((�+��� ;3�� +���

)���*�*���� �������� ����� *��3��� ���� �*53+$�*���� (��(������ ;3*� (��5������� ���

(���*��� +$� �3���� �3� ��)=$?�� $*��*� ;3�� +�� �*-�$3� ��� )����$*����� $3� ��*�� �3�

5$���*$3/�

� �$�����3��+������$*�1���3��$-�������3-��3����*22����)���*?�*2*)$�*-�����+$�����3��

����$3�2*�$+��+*���$3�5���������<*�/��+�����(��2��$<+��������(�)����+$��$�3������

��<*�� (���$��� +"�5(*+�5���� �3� <�*�/� 
$�� $*++�3��1� �� +"�)=�++�� ��� +"$5$�1� ���

�<���-��3���<�����=�5�?���*��� ��� +$� ����3�� ��� �$3� 2*�$+�� �$��� +��� (+$�)=���

$(�,��+����)=$?�/�

� U�+"�)=�++�����+$�(+$�)=�1�+��(��2*+��"=35*�*���2*�$+��"����($��3�*2��5���3����3���

+$� +��?3�3�� ��� +$� (+$�)=�/� ��� -�*�� *)*� +��� �22���� �"$�*�����(*�� �3� <�*��

O(��5�$<*+*���+��?*�3�*�$+����,��?�$����($���$((����$36�$3������*��)�*���P/�

G

8






�=$(*�����J�

�88�

��� )�� ;3*� )��)����� +$� 5���+*�$�*��1� ��3�� $-���� 5*�� ��� �-*���)�� +"*5($)�� ����

)���*�*���� ��� ��)=$?�� �3�� +�� �*-�$3� ��� )����$*����� $���*��� $3� ��*�� �3� <�*�/� �"��3��� ���

����*<*+*��� $� (��5*�� ��� (��(����� ���� )���*�*���� (��5���$��� ��� �*5*�3��� +�� �*-�$3� ���

)����$*�����($���$((������ +$�)���*�*������ ��2����)��(��)��*����($�� +��)�����3)��3���3���)=�*��

$-�)����)������($��*��3���$3?5���$�*������+$��3�����3���)=$?��;3*���������$�5�*�����3����2$*��

$))�(�$<+��O8G�R�3���(�3��$���*�����3�������3������$3����D/8
P/�

��������3����������*<*+*���$�($��$*++�3���(��5*�����=*��$�)=*����+����22���������*22�������

($�$5,����� �3� (��)���� �3�� +$� �3���� ��� +"�(��$�*��� $*��*� ;3�� +�� �*-�$3� ��� )����$*����/� �+� ���

�������� ;3�� +��� ($�$5,����� (����5*�$���� ����� +$� ��5(��$�3��� ��� +"��)�*���� ��� �$� (����*��/�

������� ;3�� +$� ��5(��$�3��� $� 3�� �22��� (+3�� *5(���$��� ;3�� +$� (����*��� �3�� +"�-�+3�*��� ����

)����$*�����5�)$�*;3������;3"�++��$�3���22�����)����(+3��*5(���$����3��+$��3�����3���)=$?�/�

�+�������������($��$*++�3���;3��+������3+�$��������*53+$�*������������($�2$*��$))����$-�)�

+������3+�$����6(��*5���$36�O���)��;3*�)��)�����+$�)*���*;3�������)=$?�P/�

�

�
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Conclusion Générale
�

�

��3�� $-���� �$��� )�� 5�5�*��� $<����� +�� ��)=$?�� ��3�� -*��� �*�)���*�3� �3� <�*�� ���

)=>��/��������<R�)�*2���$����"�(�*5*����+����5(�������)=$?����3������-*�$���+"$(($�*�*�������

2*��3����������(�����-$���+���;3$+*����5�)$�*;3���*�*�*$+����3�<�*�/�

�

�3� ��$-���� �"3�� <��2� $(��c3� �"��3���� <*<+*�?�$(=*;3��� ��3�� $-���� �����3� ;3�� +��

��)=$?���3�<�*������*�2+3��)��($��+"$�)=*��)�3�������)�++3+��1�*+��3<*��$*��*���3���+$�-$�*$<*+*���

�3� 5$���*$3� ��+��� +"�����)�1� +$� (��-��$�)�1� +$� ($��*�� ��� +"$�<��� O)S3�1� $3<*��1� <�*�� ���

��$)�*��1� �S3��[P� ��� +�� 5���� ��� ��<*�� �3� ����)/� ��� ��$-$*+� �22�)�3�� �"*��������� �� +$�

5���+*�$�*��� �3� )�5(����5���� �"3�� 5$���*$3� �$��� ��2$3��� $3� )�3��� �3� ��)=$?�/� ������

5���+*�$�*���(��5������)�5($�����*22��������)��$�*������)���3*����3���)=�*��������5�����

��5(�������)=$?��������)����$*����5$6*5$+��$3���*���3�<�*�/�

���5��,+��5*�����(+$)������<$����3��3������)�*(�*���������$��2��������)=$+�3��������

5$����$3� ��*���3�<�*����� �� +"*����*�3�� �"3�� ��)=�*�� ��3��-*����*�)���*�3�$*��*� ;3�� �3�� 3��

)�5(����5�����+$��*;3���3�<�*�/����)=�*6��"3��)�5(����5�����+$��*;3�������-*��5��������

��$+*���� (�3�� ��)�*��� +�� )�5(����5���� 5�)$�*;3�� �3� <�*�� 5$*�� (��5��� ��� )�5($���� +���

�*-�$36����)����$*�����(�3���*22��������)���*�*���������)=$?�/�

�

�$�5���+*�$�*���������$��2��������5$����������)=$+�3����+"*����2$)��������+��5$���*$3�

���+����)=�*�����<$����3��3���5���+*�$�*�����$<+*��(��)���55����O7�.������'��b�����

18EEHP/��$���)��������)�*(�*��� +�� 2+36����5$���� O(���$��� +$�(=$������-*��P������<���3�$3�

��$-�����"3���=4(��=,����"�;3*+*<���$3��*-�$3����+$�(����*������+$�(=$���-$(�3��)����Q�Q�*���

;3"����3��*���$���+$�(����*������-$(�3����+$��3�2$)���3�<�*�������3((������?$+����+$�(����*���

���-$(�3��$3��*-�$3��3���)=�*�/����������)�*(�*�������(���*������(���$���+����?*5��$)�*2��T�

+$� (�5(�� �6��$*�� ��3�� �6)��$��� ��� -$(�3�/� �3� )�3��� ��� )�� ��$-$*+� ��3�� ��3�� ��55���

*����������$3���?*5��($��*2�O(�5(����+"$��>�P��T���3��(��(������+$����)�*(�*����3���$��2����

��� -$(�3�� $3� ��$-���� ��� +$� �*223�*��� ��� )����� ����*,��� ��(3*�� +$� �3�2$)�� �3� <�*�� -���� +��



���)+3�*���

�8



-�+35�����+"��)�*���/����������)�*(�*���(��5������(��(�����3���2��53+$�*�����,���*5(+���3�

2+36�5$����(���$���)����?*5��($��*2/��������3+�$�������(��5*�����)��2*�5���($��$*++�3���;3��

+"=4(��=,����"�;3*+*<���(�3��>����$��(����(�3��+����?*5��($��*2/�����22���+����*22����)�������

���3+�$��������� +��5��,+��(��)���������)�+3*�(���������$���)����$-$*+������ ��,��2$*<+���������

(�������($����)����;3��)���$���+$����)�*(�*����3�)�5(����5�����3�5$���*$3�$3�)�3����3�

��)=$?�/�

�"��3����������*<*+*����3�5��,+��5*�����(+$)��$36�($�$5,��������)����@+���3���)=�*��

(��5��� ��� ��?$?��� ���� )���*�*���� (���*������� ��� ;3*� )���*�*������� ��� ?�$���� ($��*�� +$�

;3$+*��� �3� (���3*�� ��� +$� �$(*�*��� �3� (��)���/���� )����� ��3��� ��� ����*<*+*��� ��3�� (�3-����

�����*��;3��+���($�$5,�����(��(�����$���������+$���5(��$�3��������)=$?�1�+$�(����*����$���

+"��)�*�������+���*-�$3������5(+*��$?���3���)=�*�/�


�3��)���($�$5,����1���3�����*��������(�*�)*($+�5����;3��	�

• �"�22��� ��� +"$3?5���$�*��� ��� +$� ��5(��$�3��� �3�� +��� )����$*����� 5$6*5$+��� ����

(+3��*5(���$���;3��+"�22������+$��*5*�3�*������(����*��/�

• �"�22��� ��� +$� ��5(��$�3��� �3�� +$� �3���� ���$+�� �3� ��)=$?�� ���� <�$3)�3(� (+3��

*5(���$���;3��+"�22������+$�(����*��/�

• �$� ?�$���� ;3$��*��� �3� <�*�� *�����3*��� �$��� +�� ��)=�*�� ���� 3�� 2$)��3�� ���

�*5*�3�*��� ���� )����$*����� $3� ��*�� �3� 5$���*$3� ?�\)�� �� +"$5<*$�)�� =35*���

(���3*���($��+$�-$(�3���"�$3��-$)3����3�<�*�/�

�

��������3���$�(��5*�����(��(���������)���*�*����(��5���$�������*5*�3���+���*-�$3����

)����$*�����($���$((������+$�)���*�*��������2����)��(��)��*����($��+��)�����3)��3���3���)=�*��

$-�)����)������($��*��3���$3?5���$�*������+$��3�����3���)=$?��;3*���������$�5�*�����3����

2$*��$))�(�$<+��O8G�R�3���(�3��$���*�����3�������3������$3����D/8
P/�

�

�"��3����6(��*5���$+���3���)=$?�� ��3��-*����*�)���*�3��3�)=>�����3��$�(��5*�����

-$+*���� +$�5���+*�$�*���5*������(+$)��$*��*�;3��+���)���*�*�����(�*5$+��� �$���������5�����

�3����;3"������5������*�;3������2*��3�$�*���/���������3����6(��*5���$+��$���-�+��3��)���$*��

��5<������(�*�������35���)*�$(�,��	�

• �3��+"����5<+������������$*�1�3���<�����;3$+*���5�)$�*;3��$�������5$�;3����3��

+�� <�*�1� (�3� ��� ��2��5$�*��� ��� ��,�� (�3� ��� 2�����/� �+� 2$3�� �$((�+��� ;3�� +���
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• �$�����3��+������$*�1���3��$-�������3-��3����*22����)���*?�*2*)$�*-�����+$�����3��

����$3� 2*�$+�� +*���$3�5���������<*�/� �+� ����(��2��$<+����� ���(�)���� +$� �$�3������
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$-���� �<���-�� 3��� <����� =�5�?���*��� ��� +$� ����3�� ��� �$3� 2*�$+�� �$��� +���

(+$�)=���$(�,��+����)=$?�/�

�

�$� (�3��3*��� ��� )�� ��$-$*+� ���*��� �$��� +$� 5*��� ��� (+$)�� �"3�� 5��,+�� 5�)$�*;3��

(���$������)�5(���+$�)�5(+�6*�������(=���5,�������*���?�$���+��)�5(����5�����*22�����3�

<�*��)��;3*�(��5����$����(���*���(+3��(��)*��5����+"�-�+3�*�������)����$*������$���+$�<�*��

$3�)�3����3���)=$?�/�

�"3��(�*������-3���6(��*5���$+1�*+����$*��*�������$������5���������(+$)��3���*�(��*�*2�

��� ����)�*��� �"$(($�*�*��� ��� 2*��3���� $3� )�3��� �3� ��)=$?�/� !�� �*�(��*�*2� �"�5*��*���

$)�3��*;3��(�3��$*��>������-*�$?�/�


$�� $*++�3��1� *+� ���$*�� *�������$��� ��� -$+*���� +$� 5���+*�$�*��� �� 3��� $3���� �)=�++�� $3�

��$-�����"�6(��*��)���)���3*�����3��3����)=�*����3��-*����*�)���*�3�*��3���*�+/�
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Nomenclature des principaux symboles
�
� � �*223�*-*����=��5*;3��j 8
 / −�# k�

7 � �3�2$)�����$+���"�)=$�?��j 
# k�

! � �$�?�3�����(+$�)=��j# k�

6 � ���)����$�*������+$�-$(�3���"�$3��3�2�$)�*���5$��*;3��j 8−�� k�

6���� ����22*)*���/�

6�6�1 �=$+�3���5$��*;3�����(����*��������-�+35��)����$���j 88// −− 40�5 k�

.6 � ���)����$�*������+$�-$(�3���"�$3���+$��3�2$)���3�<�*��j 8−�� k�

∞6 � ���)����$�*������+$�-$(�3���"�$3���+$�($��*��3���)=�*��j 8−�� k�

#�:� � �*��$�)��5�4�����������+��+"$5$�����<�*�����+$�($��*�j# k�

/ � ���22*)*��������*223�*���j 8
 / −�# k�

D/ � �*5���*������+"�)=$��*++����3�<�*����+"��$��$�=4����j# k�

�/ � �*5���*������+"�)=$��*++����3�<�*����+"��$���$�3���j# k�

� � �($*���3���3�<�*��j# k�

� � .��3+���"��3�?�j 
M##> k�

#8 � %+36�5$�������+$�-$(�3���"�$3�j 8
 // −− �#0� k�

#�8 � %+36�5$�������)������$�*���j 8
 // −− �#0� k�

#) � ���22*)*�����"�)=$�?��5$��*;3��j 8−⋅ �# k�

�) � ���22*)*���������$��(�����=��5*;3��j 8
 −− ⋅⋅ 4#( k�

.) � �=$+�3��+$�������"�-$(��$�*���j 8−⋅ 0�5 k�

#�) � ���22*)*�����"�)=$�?��5$��*;3�����)������$�*���j 8−⋅ �# k�

* � �$36��"=35*�*������<$���=35*��/�

*, � �35*�*�����+$�*-��Y�

5 � %+36Q5$�����3�2$)*;3��j 8
 // −− �#0� k�

5 � ��5(+$*�$�)���3�2+3$?��

0 � 
��5�$<*+*���*���*��,;3��j 
# k�

= � ���?3�3�����(+$�)=��j# k�

# � ��5(+$*�$�)���3�2+3$?��5�)$�����(�*2�

.� .$���� 0� �
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.� .$����5�+$*���j 8−⋅ #��0� k�

3 � 
����*���j<$�k�

- � ��<*��-�+35*;3��j 8G −⋅ �# k�
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